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I1- Read the following texulW_%

I- Read the following text then do the tasks
below: . )
Antibiotics are incredibly useful and they have

below :
' ings need varies -
The amount of sleep human being ansformed modern medicine. However, there is .

individual. Its need about 8 hours of
;flrg; :ang:;'l,dl;ljtl t}I:;Isorsr::r(rjlllJ)er, can vary greatly. danger that we use them totg m‘;_Chl-] The more we
Babies need about 16 hours a day while many use antlbxotlg the bacter.la ey l]%ht get used to
teenagers need an average of 9 hours. As people get | them and build up a resistance. Offre are many
older, they tend to need leas sleep. Exactly how reasons why this rmgl_lt haPpe“'h cn patients stop
much we need depends on several factors, including taking a course of antibiotics w En they start to feg)
our age, our daily routine, the quality of our sleep better but befo're all the bacteria have t_aeen
and our genetic make-up. Some of the signs that climinated. This means that the bacten_a that
you may need more survive are the.stro.ngest apd most resistant. Thf:re
Sleep are: resistant bactena w1l.l rr;ultxply and spread and, in
You have memory problems future, will not be 'ellmmated by the same
You cannot concentrate at school or at work : antibiotics. There is a real _danger that thes:e new
You are moody "superbugs" could cause dlsc_uses that antibiotics
Getting enough sleep allows us to recharge our are unable to flght- _lt 1s very important not tO‘
mental and physical batteries and be ready for each | overuse antiblotlgs in order to prevent bcher}a fro
new day. People who have been deprived of sleep becoming too resistant. Try to .avmd amlbIO'tICS
find it difficult to perform the simplest activities. unless strictly necessary and, if you are takl-ng
For example, motorists who fall asleep at the wheel | them, make sure you take everything prescribed and
are responsible for thousands of traffic accidents don't just stop when you feel be_tter. Y ou should
every year. always wash your hands. Especially when you feel
How we sleep also affect us. When we fall asleep till. to make sure you kill all of the resistant
our sleep can be deep and restful or light and
s'hallow. 'Shallow sleepers wake up still feeling Choose the correct answer a, b or ¢ -
tired, while deep sleepers wake up refreshed
(18 marks) 8. Antibiotics are useful to
a- cure many illnesses
b- allow bacteria to multiply
c- spread infections
9. Using the same antibiotics over and again makes
sleepers ? the body the bactena
a- stronger to kill ~ b- unable to fight

il sal B ) goo (B Cuae V3l PCEPP )

bacteria

(12 marks

Answer the following questions :
1. What are factors that affect the amount of

our sleep ?
2. Why is it important to get enough sleep?
3. How are shallow sleepers different from deep

Find words in the text which mean the following: | c- able to attack

(10 marks)
4. easily feeling gloomy for no good reason Match two of the underlined words from the tex
to the definitions / meanings below :

(12 marks
10. the ability to stop something from harming you
I1. continue to live or exist

5. give all your attention to a subject.

Rewrite these sentences about the text to correct
the inf ion : 12 . .
he information (12 marks) Complete the following sentences with

information from the text : (12 marks)

6. Babies usually sleep less than adults.
7. Many traffic accidents happen because of drivers

who feel alert.

12. Patients who start to feel better while taking
antibiotics shouldn't
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i1, Com lete the following paragraph p

; to_the S3PS- (18 marks)
| 4. The Jaw related to computer crime

| | changing

[ 15. very auickly. ... recent years, computer crime
16. has increased...... the number of people using
the Internet has grown

m
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VII. Complete the follo
clauses :

[v. Fill in the spaces with words from the list

n -
ygg_gi'ﬂ'lvord once only : (24 marks)
Jessons , successful, youngest, nothing, knew

17. Marie's mother died when her... . . daughter was

18. only ten. From then on Marie.. ... . that she
19. would have to work hard at her........ if she
20. wanted to be....... in her life

...........
........
..........

2 _ B .
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wing sentences using

(14 marks)

29. If you want to succeed in your job

30. 1 broke my glasses, so

VIIL Choose the correct words in brackets:

5 (18 marks)
- Many (recycling, recycle) factories were
built in our town.
32. When I was twelve. I (did, made) the
decision not to eat any more fast food.
33.This man has three villas. He (can't be, must
be) rich.

v. complete the following dialogue by writing
suitable questions or answers. Write at least
three words for each question: (32 marks)

Khaled: Animals migrate to find food or to
raise their young

Khaled: they usually travel to warmer places
Ruba: How can we protect animals ?

IX. Correct the verbs in brackets : (18 marks)
34. My father retired after he (finish) the project
35. Hassan (write) an essay all moming. He is

very tired now.
36. When Sami graduates he (travel) to London.

X. Translation :

Translate the following sentence into Arabic
(10 marks)

37. Virtual reality allows people to live, work

and interact with others in an electronic world.

Translate the following sentence into English
(8 marks)

sl Al el e Bl ads

38.

VI. Rewrite the following sentences as required

in brackets : (32 marks)
25. Many women don't make their dresses

themselves.
(use the causative verb 'have’')

XI. composition :
Write a composition of no less than 80 words

on the following topic

"Water shortage, suggesting ways of cons less

26. Human activities have destroyed the natural water "
environment

(make passive voice)
127 "Have you tasted Indian food ?
| (report using "She asked him")
28. I can't play the piano.

(use "I wish".........)

— END OF EXAM
s B AU T RO PR e i -
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ers: (1-3)
Model answ affect the amount of our sleep

Z 's that !
/I_ngeatrgtgii age, our daily routine, the quality
of our sleep and our genetic make-up.

2- (Getting enough sleep allows us) to recharge
our mental and physical batteries / be ready for
each new day.
3- Shallow slee
while deep sleepers wake up 1
- Shallow sleepers wake up sti
Model answers from (4-5)
4- moody

5- concentrate

Model answers from (6-7)

6- Babies usually sleep more than adults.

- Babies need 16 hours of sleep while adults need

about 8 hours a day.

7- Many traffic accidents happen because of
drivers who fall asleep (at the wheel).

Model answers (8-9)

8- a / cure many illnesses

9- b / unable to fight

Model answers (10-11)

10- resistance

pers wake up still feeling tired
efreshed.
Il feeling tired.

: 11- survive
I Model answers (12-13)
12- ... stop (taking the course of
e antibiotics).
13- .......... kill all the resistant bacteria.

Model answers (14-16)

14- is

15- In / Over / During / Through
16- because / since / as / and
Model answers (17-20)
17- youngest
18- knew
19- lessons
I 20- successful
¥ Model answers (21-24)

21- Why do animals migrate?
- What makes animals migrate?

22- How often do they migrate?
- How many times (a year) do they migrate?

23- Where do they (usually) travel (to)?

- Which/ What places do they (usually) travel to?
24- (Answers vary) d |
24- (Answers vary) -
Model answers (25-28)

25- Many women have their (own) dresses made
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L2 4
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- They have them made.
26- The natural environment has been 4 3
by human activities. es““&'eq
27- She asked him if / whether he had (g, 4

Indian food.
28- 1 wish I could (play the piano).

_ I wish I played the piano.

Model answers (29-30)

29- (answers vary)

30- (answers vary)

Model answers (31-33)

31- recycling

32- made

33- must be

Model answers (34-36)

34- had finished / finished

35- has been writing

36- will travel / 1s going to travel / is travellip

Model answer (37) g
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Model answer (38) ¢

38- The driver paid a fine for breaking the law

/ because he had broken the law.

- driver: motorist

- the law: rules

- because he had broken: for breaking

- had broken: broke

d (\hej

Group 6 — Composition

e ————
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low :

=15 live everywhere on Earth, i ‘erTai
ﬂ?jﬁa; 9 clim,"‘tes' T.he place where r;: \;ri?;:;n o
Ees s called its hablta_t and most animals cap onl
| arvive in one or two different habitats. For g
| oxample, wha]gs are sea creatures and cannot live
[ fresh water; lizards live in hot climates ang
| would die llfthey were moved to the Arctic. Some
| | ;nimals migrate between two habitats at different
| time of the year.
[ | There are seventeen different species of penguins
{ including th? famous Emperor penguins and the ,

common Chinstrap penguins. Al] of these live in
the southern hemisphere.
Kangaroos and their Flose relatives, wallabies are
only foun_d naturally in Australia and Papua New
Guinea Like Wombats and Koala bears. Kangaroos
are marsupials, which means that when young are
born they are carried by their mothers in a pouch.
Tree kangaroos live in remote and mountainous
forest regions and have adapted to life in trees.
The jerboa lives all over Asia and Northern Africa.
This animal lives in hot desert climates. They have
very short front legs and long back legs which
enable them to hop quickly over the ground to
escape predators.

Answer the following questions :__ (18 marks)

1. Where do all species of penguins live ?
2. Why are kangaroos called marsupials ?
3. How can jerboas escape predators ?

Find words in the text which mean the
following: (10 marks)

4. far from civilization or populated areas
5. to stay alive

Rewrite these sentences about the text to correct
the information : (12 marks)

6. Lizards are adapted to live in all kinds of climate

7. Australia is the new habitat of kangaroos.

Inci i i
Cineration and recycling are two methods of

disposing of hy o
£€ quantitie;
People every day. 4 s of waste produced by

The burnin
This proce
Incinerato

g of solid waste is called incineration.
ss has some advantages over landfills.
IS take up less space and do not pollute
groundwater. The heat produced by bumning solid

waste can be used to generate electricity.
E:rf(;;t:rrlllz;tle;ya ]i:cinerators also have disadvantage.
f » they release some pollution into the
air. And although incinerators reduce the volume
of waste by as much as 90 percent, some waste still
remains, and this has to be disposed of somewhere.
Incinerators also cost much more money to build
than landfills.
Recycling is the process of reclaiming raw
materials and reusing them. Recycling glass is easy
and inexpensive. The recycled pieces melt at a
lower temperature than the raw materials.
Therefore, less energy is required. Recycling glass
also reduces the environmental damage caused by
mining the raw materials that are used to make
glass. Recycling metal saves money and causes
less pollution than processing new metal. It also
helps to conserve these non-renewable resources
Choose the correct answer a,b orc :

(12 marks)
8- Unlike incinerators building
landfills money.
a- requires more
c- needs huge sum of
9- Recycling helps to
a- waste

b- costs less

non-renewable resources
b- dispose of C- save

Match two of the underlined words from the
text to the definitions / meanings below :

(12 marks)
10. an amount of space that an object fills
11. produce / create

Complete the following sentences with
information from the text : (12 marks)
12. Recycling glass requires less energy because
the recycled pieces |
13. One of the advantages of using incinerators 18

A5l daduall A
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Tl Comblete the following paragraph by fillin

to the gaps: (18 marks)

14. In 1956 Michael Asher was

15. to cross the Sahara Desert......
16. a camel, He...... learnt how to ride a camel

before he set off on his journey.

IV. Fill in the spaces with words from the list

Use each word once only : (24 marks)
Mind, bad, coast, machines, set up
17. The British government helped Marconi to...
18. wireless stations all along the he also put
19. some of his...... on ships. One night during
20.a....... storm at sea, two of the ships were in
trouble
V_._complete the following dialogue by writing.
suitable questions or answers. Write at least
three words for each question: (32 marks)
21. Salem: Mot . Lonn.di'd oo Nehins Lagt
Adnan: our meeting lasted for two hours
22.Salem:..\whaT 41V 4d Yoo &' 5 co S5 ¢
Adnan: We discussed the problem of traffic
jam in our city.

Adnan: Many engineers and experts attended
the meeting
Salem: What is your recommendation to solve

this problem?

pe 599 i)l & g‘\.‘dl Aty 343:‘ Ot -
2018 : , &_)ﬂl) -

(191\51\ Aaiual))

Euga Jigaal) o8, (A A55))
e the following sentences usin
(14 marks)

23y pa BB
V11, Complet

clauses

29. [ have passed my driving test, so

30. Huda prefers living in town, whereas

hoose the correct words in brackets:
(18 markg)

VI C

ve never been good at (mathematics,

31. T
mathematica))
32. Why don't you (come over, come out) after

school 72 We can play chess together

33. The musician (hits, bows) the violin

IX. Correct the verbs in brackets : (18 marks)
34. She (not go) to the beach since she was six
years old

35. As soon as he arrives he (call) us

36. If you Mstop smoking your cough (get)

wOorse

X. Translation :
Translate the following sentence into Arabic

(10 marks)
37. Surgery has become safer than in the past and

it is now used to cure many illnesses
Translate the following sentence into English
(8 marks)

VI. Rewrite the following sentences as required
in brackets : (32 marks)
25. Going to the theatre is expensive.

(use " I wish "'
26. Farmers grow many salad crops.

(make passive voice)
27. Do you work in a college ?

(report using "' He asked me ')

28. Brides rarely make their own wedding dresses

XI. composition :
Write a composition of no less than 80 words

on the following topic :

" Advice to people of your own age who are about

to start a new job. "

\

( use the causative verb ' have') ) ¢ w ‘
SEN£'OF EXAM ~—  °
ALl gl
P e
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30- 8
....... (ansWerS v . N ek .
Model answers (31-?3)) Uike living in city.

31- Mathematicsg,
32- Come over

33- Bows
: (1-3) Model
wers: a ‘ el answe )
a 158 se live in the southem hemisphere. 34- hasn't gon:,s (34-36)
hen young are born they are carried 35- will call
thers in a pouch 36- would get
¢ very short front legs and long back
them to hop quickly over the Model answer (37)
Eound from (4-5) ‘ O (A g (plalal) (pa Bl s Al o) inaal 37
odel answers e (8 LS gl
; remote M
; ive odel answer (38)
odel answers from (6_7.) %8' Libraries is considered to be very important
¥ Lizard can live in hot climates and would die if resources for culture in any country.
—e are moved 0 the Arctic.
; - Kangaroos and their c!ose relatives, wallabies Group 6 — Composition
 re only found naturally in Australia and Papua
ew Guinea-

Model answers (8-9)
' g-b/costs less

9-c/save o \ v \
Model answers (10-11) A ’

10- Volume el

11- Generate

Model answers (12-13)
12 coeennees melt at lower temperature than the

raw materials.
13- ceeennnes Incinerator take up less space and

don't pollute the ground water.
Model answers (14-16)
14- the
15- from
16- was
Model answers (17-20)
17- setup
18- coast
19- machine
20- bad
Model answers (21-24)
21- How long did our meeting last?
22- What did you discuss during the meeting?
23- who attended the meeting?
24- (Answers vary) using bicycles, building more
tunnel and bridges.
Model answers (25-28)
25- [ wish going to the theatre weren't expensive.
26- Many salad crops are grown by farmers.
27 he asked me If [ worked in a collage.
28 Brides don't have them made.
Model answers (29-30)
29-...... (answers vary) I am very happy L
Alaimia.edu 1&g . TR | s TR
i o sl aaslald L TTVIRAN 4
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I- Read the following text then do the tasks below :

Th‘e low related to computer crime is changing very
quickly . Modern criminals are using computers to help
them commit crimes like Identity theft and to make it
easier to commit old crimes like thefl or fraud . One
issue that makes it hard to fight computer crime is that
this type of offence is often more difficult to solve than

their action may be hard to prove .

In recent years computer crime has increased as the
number ofpeople using the Intemet to buy things or to
access their bank accounts has grown .

This new type of business has attracted techno-criminals
who order goods without paying , or break into the
computer systems of businesses and move money to
their own account or send viruses which can seriously
damage computers and the information they contain .

confidential information more easily than meetings or
telephone conversations .

e . .
omputers allow criminals access to millions of people
hom they may persuade to pay for something
e yorthless .

nswer the following

| questions : (18 marks)
. Why has computer crime increased recently ?

2. How can viruses affect computers ?

3. What may computer criminals convince people

to do ?

Find words in the text which mean the following :_

(10 marks)
4. the crime of lying or cheating to get money

5. to show that something is true

Rewrite these sentences about the text to correct the
information : ( 12marks)

6. the Internet prevents computer criminals to pass on
information more easily .

7. Computer criminals can't be seen which makes it
easier to solve computer crimes .

traditional crimes because the criminals are invisible and

Criminals can use the Internet to plan crimes and pass on

p 4 s i B “\adal
YAV pe ;JJ_\M\_‘_“A.)JJLNM\_)-\J\ alged Olaaa
s isinall )

iy ISHY) 4all)

b gal)

(BieSy Cm Jigd) (3

) g} Adga
A J)ged t then do the tasks below :

11- Read th
Nobel was very interested in literature and peace-related
issues . He held views that were considered radical for
his time . In 1867 , he received a patent for fiY“am\te _
About 1875 he produced a powerful explosive called
blasting gelatin . [n all , Nobel held more than 100

palenls .

e following tex

blication in 1888 of a premature
| by French newspaper . condemning
him for his invention of dynamite . is said to have
brought about his decision to leqvc a betFer.legaC)’, after
his death . Alfred Nobel made his last will in Paris .
When it was opened and read after his death . the will
caused a lot of local and International controversy . as
Nobel had left much of his wealth for the_estab\ishmem
of a prize ! His family opposed the establishment of the
Nobel prize refused to do what he had requested In his

will .

The incorrect pu
obituary of Nobe

Alfred Nobel specificall
onsible for the prizes he

In his last will and testament .
designated the institutions resp
wished to be established .

Choose the correct answer a, borc:

8. The incorrect publication of Noel's death caused him
to make his decision to ------
a- neglect peace-related 1ssues
b- establish his own prize

¢- refuse any medal

9. The institutions responsi
Prize were determined by

ble for awarding the Nobel

a- The Swedish government
b- members of Nobel's family
¢- Nobel imselt

Match two of the underlined w ords from the text to
the definitions / meanings below :

(12 marks

10. personal opinions about something .
11.connected with or involving two or more countries >

Complete the following sentences with information

from the text : (12 marks )

12. When Nobel's will was opened and read , his family

13. In his life, Nobel had a great interestin ...........- :

\

a0 Aadual) (2
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. (18 mark
mation about climate can s)

useful for
it helps farmers to

best time to plant crops

v Fill in the spaces with words from the list .

se each word once onl- : (24 marks)
; Waste , allowed , higher , selling , laboratory

‘;17_Edi50nvs first job was newspaper on a train .
18.He didn't want to
19. so he setup a moving

20. fire broke out and Tom was not
{rain any more .

his time between stations,

on a train . One day a

to work on the

y-Complete the following dialogue by writing
suitable questions or answers . Write at least three
words for each questions : (32 marks)
21. Lama : whe e 1.8 12.Amescos. Lac.qbel

Rana : Damascus is located in the south west of Syria

Rana: Thousands of tourists visit it every year

23.Lama : .P.’..k.g;..dn...y.o D....\/.L‘.S.xr.{‘..S. Yvla.?

AL B Aalall) Ay gRt) )y Bl Cladal
(ralndt g i) )

(Al daa )

2 - Ly as o) s i
he following paragraph by filling in ) u-‘)vgi\ly..d\ s JAE Y g ol gl

Complete the following sentences using clauses :

22. Lama : !.-L-Ea;*”\‘ Awhon A X Foursisy PN

A 30 Aal

£ s By Camy g B N A

29. Omar is very nervous because
30. When I was child ,

VIII- Choose the correct words in brackets :

( 18 marks

31. Ahmed went to the Airport ( so that , in order to )
meet his friend . -

32. It would be awful if our car ( ran out of , ran into )
Petrol . -

33. I've ( made , done ) myself a promise to work hard

for the exam .
IX- Correct the verbs in brackets : (18 marks)
SL\N\& Av--’

34. The police ( stop ) you if you drove too fast .

35. He looks very tired . He (play) football all morning !

36. The scientists ( discuss ) new ways of saving energy,
at the moment . :

X- Translation :

Translate the following sentence into Arabic :

( 10 marks

Rana : They visit Syria to explore its cities .

Lama : What is Damascus famous for ?

24.Rana : .P.ﬁ.m.x,s.cu.s...L.o\h\.o.u.x...f’.lg.c.w. .
hystorical and her Joocl
VI- Rewrite the following sentences as required in

brackets : (40 marks)
25. He is not going to lake his tooth out himself .

(use the causative verb ' have ')

26. Skilled engineers built the bridge in’l?g) :
( make passive voice )

27. " have you been to Palmyra before ? "

( report using " She asked her friends "

28. [ can't sing well .

(use " I wish "

37. Astronauts do research to study how long periods in
space affect the human body .

Translate the following sentence into English :
( 8 marks
Lot 2t e aal) 2 s adlad) ol J

38.

XI- Composition : (50 marks

Write a composition of no less than 80 words on the
following topic :

" A description of a building you know well . "

A\

-Y-

END,F.EXAM \
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I- (Computer crime has increased recently as / because / sm?e) the ngx/n E:(rzoorflg Er:lc:gll':usmg the fatemet
(to buy things or to access their bank accounts) has grown / mcrejst;e information they contain
2- Viruses / They (can seriously) damage / destroy computers 2 rthless |
3- (They may convince / persuade them) to pay for something WO ‘

Model answers from (4-5)

4- fraud 5- prove

Model answers from (6-7)

6- The Internet allows / helps / enables / permi
7- Computer criminals can't be seen / are invisi
computer crimes.

Model answers (8-9)

8- b / establish his own prize
Model answers (10-11)

Model answers: (1-3)

ss on information more easily

riminals to pa
difficult / hard / harder to solve

ts computer € nal
Kkes it (more)

ble which ma

9- ¢ / Nobel himself

10- views 11- international

Model answers (12-13)

12- ... opposed (the establishment of the Nobel Prize / it).

13- .......... literature and peace-related issues.

Model answers (14-16)

14- be 15- because / since / as / for / and / so 16- the

Model answers (17-20)

17- selling 18- waste 19- laboratory 20- allowed
Model answers (21-24) \

s |21- Where is Damascus (located / situated / placed)? J
- Where / What is the location of Damascus?
]

22- How many tourists (do) visit Damascus / it every year?
- How often do tourists visit Damascus / Syria / it?
23- Why do they visit Syria?

- What do they visit Syria for?

24- (Answers vary)

Model answers (25-28)
25- He is going to have his tooth / it taken (out).

26- The bridge was built in 1990 (by skilled engirNa/a”
27- She asked her friend if / whether she / he had been to Palmyra before.
28- I wish I could (sing well).

Model answers (29-30)
29- ... (answers vary) all tenses except past perfect

30-....... (answers vary) all past tenses

Model answers (31-33)

31- in order to 32- ran out of
Model answers (34-36)

34- would / could / might / should stop

35- has been playing / has played / must have played / must have been playing

36- are discussing / could / might / must be discussing

33- made

Model answer (38)
38- Building factories outside cities / reduces pollution (there / in them).

- Building: Constructing / Establishing / Founding / The construction of

Group 6 - Composition .
© 1417

- factories: plants- cities: the city- reduces: lessens / decreases / makes less / causes less / leads to less

) aeaa o pladl) B el Sae 558 A/ ) gyl Eilanly plzadll ) gy 2 90 =37 |
e [ iy [aay [3 [5 e s
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the task.
ﬁ- Read the following text then do the tasks

below:

in 1953, Edmund Hillary became the first
erson t0 reach.thg summit of mount Everest the
highest mountain in the \_)vorld at 8'848 m. Hillary
| | from new Zeala{ld and his Nepalese climbing
companion 1€nzing Norgay were part of the 9th
British expedition to attempt to reach the summit.
The team had to overcome extreme cold, strong
winds, dizzying heights and dangerously low levels
of oxygen. Temperatures were below freezing point
and they were At constant risk of getting frostbite.
The two men did not have the same sophisticated
Equipment that is used today and the extremely
high altitude could have caused serious medical
roblems.

They made it to the top where they took the
photograph that proved they had reached the
highest point on earth.

Hillary was a born explorer and conquering
Everest was the first in a series of Achievements .
He led an expedition to the South Pole and scaled
several other peaks in the Himalayas . He later
established the Himalayan Trust an organization
committed to helping The Nepalese Sherpa
communities . The trust has helped to build

hospitals and schools.

Answer the following questions: ( 18 marks)
1. Mention three difficulties the team had to

overcome in the expedition.

Sherpa communities?
3. How did Hillary attribute his success to?

. Chemically speaking, caffeine was first
extr ac;ted from plants in its pure form in 1820. But
now, it can be made in the laboratory.

Xgerrlegifcfz:jnel (;S ilt'semoved from tk'mf: source plant

purest state, it forms a white
pgwder. This powdered form of caffeine is very
bitter, which is why many drinks containing
caffeine also contain lots of sugar or other
sweeteners.

Caffeine is used as a stimulant of the heart and
nervous system in certain disorders. Caffeine may
not be addictive in the classic sense, but the body
does build up a tolerance over time. Some people
find it difficult to function without at least one cup
of strong coffee or tea in the morning.

2. How did the Himalayan Trust help the Nepalese

i -ds i i n the following: | T ..
Find words in the text which mea to the definitions or words below:

The stimulating effects of caffeine are caused by a
central nervous reaction. The heart rate increases,
blood vessels expand and the brain receives more
oxygen. This effect can last up to an hour.

Caffeine is a stimulant found in many plant
species. The most common natural sources of
caffeine are coffee, tea and cocoa.

Choose the correct answer a, b or c:

(12 marks)
8 Caffeine which is taken from plants is a little ...
a. bitter liquid without a smell.
b. sweet solid with a smell.
c. bitter solid without a smell.
9 Caffeine affects the human body by making ....
a. the brain get less oxygen.
b. the blood vessels become greater in size.
c. the heart rate decrease.

Match two of the underlined words from the
text

4. height
5. staying the same/ not changing

( 10 marks )

Rewrite the following sentences about the text to i.Complete the following sentences

(12 marks)
|10, can't stop taking or using something.
11. a substance that encourages someone to be
more alert and excited.

with

correct the information : (12 marks)

they recorded a video.

Mount Everest.

6. When Hillary and Tenzing reached the summit,

7 Before Hillary, a lot of people reaches the summit of

information from the text: ( 12 marks)
12. Caffeine can be found in many plant species

QUCK @S .+ veeeeii e :
13. Caffeine is not only extracted from plants

DUL IE oo e eeeeeneeneenemnemmeesmnseemms e )

A’ﬂ'mia.edu JW’L‘J_‘:' a“-f 2
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I11- Complete the following para ra8 ::1 :rks)
filling in the gaps: ¢!
g tinction.
14. Sand gazelles are danger -..---- ex
; Hunting. However:

15. because of habitat l0SS...----
16. been some efforts to sav

animals.

e these
there

I'V- Fill in the spaces with words_f_rg_nl_t.lle—l-i—s-g
(24 marks)

Use each word once only:

behind , everything, bright , angry,

reason

17. Louis Pasteure was a Boy, although
18. his teachers said he was slow and always
19. the rest of his class. The ..... for this was simple:
20. Louis was very carful in ........ he did.

V- Complete t following dialogue by writing
suitable questions or anSwers. Write at least

mee words for each question . (32 marks)
1. Anas: N e NS TR Lo dwen e

Nidal: "Low" is a set of rules.

2. Anas:. who. alc. daws .n ANT
Nidal: Laws are made to organize people's lives.
DB ATIAS oo e s
Nidal: Police and judges make sure that people
obey the low.

Anas: What would happen if there were not

laws?
24, Nidal: ..o

ata) g gl sl g2 B

s 593
2017 (‘,Ah-“ E.)ﬂ‘)

VI- Rewrite the following sentences as required
in brackets : (32 marks)

25. Elephants have changed the natural

environment.
( make passive voice)

26.Travelling by plane is expensive.
(use "I wish"

27. "What is your favourite hobby?"
( report using "He asked me")

28. My brother didn't paint the room himself.
(use a causative verb 'have')

\

Mgy, |
v1l- Complete the following sentences using o,
(14 ey

marks)
29. She had prep

30. Whenever I goon

ared lunch before
holiday,

words in brackets.
(8

vVI1I- Choose the correct

marks) .
31, He didn't want to swim, but he changed hjs

(music, tune) when he saw the pool.
—

32. My brother has a (mathematical, mathematics)

brain.
33. in my city, the council is (going along with,

running out of) space for new houses.
mng o7

IX- Correct the verbs in brackets: (18 marks)

34. if my sister graduates soon, she (get) a new job.
35. While she (play) tennis, she hurt her ankle.
36. We (live) in the same house since 2010.

X-Translation:
Translate the following sentence into Arabic:
(10 mark

37. Recycled paper is not as strong as paper made
from wood pulp.

Translate the following sentence into English :
(8 marks

oo gt pani] AADA (3 )k LA p02000 38
) g

XI- Composition (50 marks)

Write a composition of no less than 80 words on
the following topic:

"A report to the council in your town or city
Makine recommedations about where to
build houses.

£ 147 -
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e
ced 103" | T

The Himalayan Trust helped (10) build hospitals and sch
schools.

It/
imalayan Trust hel i
t/ The Himalaya ped (to) build hospi
: , 3 ital
¢ / Hillary attributed his success) to the (wtlxaolz)st;;i:l?\?zlhs-
O supported him).

[~ (odel answers from (4-5)
4. altitude

5- constant

Model answers from (6-7)

4 Lo / A'ﬁer Hillary and Tenzing reached the summit, the

7- Before Hillary, no one reached the summit of Mount ‘E\/c“y took a photograph.
“verest.,

_ Hillary was the first person to reach the summit of Mount E
~verest.

#ooveuy
Tauaiy;

Eda ey
roe

odel answers (8-9)
g-¢/ bitter solid without a smell
9- b/ the blood vessels become greater in size

Model answers (10-11)

10- addictive
11- stimulant
' Model answers (12-13)
12- .onee coffee, tea and cocoa.
can be made in the laboratory.

13- ciieaen
Model answers (14-1 6)

14- of
15-and /or/ as well as / in addition to

16- have
Model answers (17-20)
17- bright

18- behind

19- reason

20- everything

Model answers (21-24)
21- What is law?

- What does law mean?
_ What is the definition / meaning of law ?

22- Why are laws made?
- Why are there laws”

- What is the reason of
23- Who makes sure that people obey the law

_ What do police and judges do/ make sure of

/ behind making laws ?

24- (Answers vary)
Model answers (25-28)
25- The (natural) environment has been changed by elephants.
26- 1 wish travelling by plane weren't / asn't expensive.
_ I wish it weren't/ wasn't.
27- He asked me what my favourite hobby was
28- My brother had the room painted.
Model answers (29-30)

(answers vary) only simple past tense is accepted.
(answers vary) only simple present tense 1s a
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Model answers (31-33)

31- tune

32- mathematical

33- running out of

Model answers (34-36)

34- will get / is going to get

35- was playing

36- Have been living / have lived

ModeESRsRER G i \"*-"'»‘?‘"O‘ &‘y -w-\dg/”fi‘—j\’js:j:j uﬂel - A\,A:\hf“ dosh _ 4
sl el il ela) il A Adia 88 /s Y 5 055 s AR G e

38- Plants use different ways / to protect themselves from .

- use: make use of / utilize / utilise
- different: several / many / various
- ways: methods / means / strategies

- to protect: to save / to keep

Group 6 — Composition ¢ 324!

'Y 4
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,:’l{éﬁih—e following text then do the tasks
below:
Animals live evervwhere on Farth, in every

,' rerrain and in all climates. The place where an

[ cap only survive in one or two diffcrent habitats.

| For example, lizards live in hot climates and
would die if they were movced to the Arclic. Some

fam'mals migrate between (wo habitats at different
times of the vear.

Kangaroos are marsupials, which means that

&

.’
| / when young are born they are carried by their
BN | ;iothers in a pouch. here are forty-five species
‘ ! . . ¥
! of kangaroos and they live in every kind of

‘ habital, from open plains to forests and rocky

deserts. Tree kangaroos live in remote and

mountainous forcst regions and have adapted to
{ life in trees. Unlike other kangaroos. they cannot
j move very fast on the ground.

)

i The jerboa lives all over Asia and Northei

I.’ Afiica. There are 25 different species of jerboa

I . . .

| and they arc spccially adapted to live in extremely

dry climates. They have very short front legs and

L0 ol b ign Aaledl A gl Ao 2l 3 0g—

(19Y) A5 ) J)isead Ghgma SRS Y 5 i 5ad) ph) i (il Cagay JV9ed 4 ) 4A3)

—_———
| 11- Read the following text then do the tasks

animal lives is called its habitat and most animals |

‘ from the Intemnet onto the underside of the

| find their way, wherever they are. while looking at
" a three-dimensional map projected into the \
| umbrelia above them :
l; Choose the correct answer a, b or ¢ \

i o)

T T

(rated) @A) A sy aal)

(L)J'\“ w)

savavensed?

below:

Recent scholarship suggests that by 2020, the
internet will be a thriving, low-cost network of
billions of devices, accessible 10 anyonc,
| anywhere. '

Some Internet professionals also predict that it
will provide a rcality parallel to our own. Virtnal
Reality will allow people 1o live. work and
interact with others in an electronic world, driven

by the Internet. Some fear, however. that Virtual \

apananvs
anpntannt
PP T L had

Reality will encourage people to opt oul of human
socicly, creating a world of two halves, with
those in Virtual Reality losing touch with the real |
world. |
Today. designers and inventors are using the |
Internel in ipcreasingly innovative ways. Two \
students at Kcio University in Japan have rccently |
produced the Internet Umbrella. 1he umbrella’s \
handle contains a projector that displays nnuges
(he umbrella is also fited with |
a Global Positioning System that allows camiers o \

umbrella's canopy.

(12 marks) \

! . - q The G ) i '| o \ . \
long back legs which enable them to hop quickly 8. The Global Postioning System n the *.
- umbrella ----- their way wherever they are
over the ground to escape predators. a- confuscs people linding
" Answer the follow ing_guestions: (18 marks) b- prevents people from finding
f 1. What kind of climate do jerboas live in? ¢- enables people to find
: '9. Living ina Virtual Reality makes peuple ------

J 2. What is an "animal habitat™’
' |

© 3. How are trec kangaroos different from other

their real world.

a- {ar from b- close to  ¢- involved in

kangurous’ | Match two of the underlined words from the |
| Find words in the text which mean the following: | t€x! to the defipitions/meanings below: \
,’ (10 marks) | (12 marks) |

1. change o be better suited 10 & siuation | 10. something that can be reached or used
‘ _ . . | 11. to have or hold within itscl
5.animals that kiil and cat other animals h ‘ ‘
; ) - Complete the following sentences with mformation |
| Rewrite these sentences about the text (0 correct ! frorm the text: (12 marks) 1
|
‘\

f the information: (12 marks) |

{12. The projector in the

Jerl : _ Internet Umbrella
erboas camry their young in a pouch. Chows

.
"

. . |
7. 1izards would stay alive if they were moved |

| 13 It is expected that the cost of the lnternet in the |
I 10 the Arclic.
l

future witl ...
e
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et 100 aletn ) :
HPORY (L;“ld‘ t)__ﬁl\) A SN AR ,
cbamlocs had J_IJ"“\ 34»}34?‘ (Z.Jl;'d\ inial) ':
4._:'_‘.:!:'{:! /’\-' . l! ;‘-\._; BEV)) ° 3 3 . .\y‘) "5 j i ::
<z.e-was,~uwwa.mwvmwéwa-‘”°* a2y Jipead 82, 2 ) :
. e mm T T ‘—'"‘T VIl- Complete the following sentences using |
| 11t- Complete the following Qaragraghjsen(’ences clauses: (14 marks) | .
by filling in the gaps: (18 marks) = \ }
29. She went LO school although oo ) %

30. If you broke the 18W., oo .
ords in brackets:

!16. Tareq's sons, Saleh, decided to follow----- (ather '(18 marks)\
iitq e busjness. 31. I'im good (at, with) maths, but I cant do \
Tt T T oS very quickly.

V- Fill in_the spaces with words from the Jist. calculations very quickly

i
!

I ; .

1 14. Tareq's instruments have become famous acroess
i Svria ----- the Arab world, and there is now
I

(15,4 great demand ----- these instruments. Onc of "VIIl- Choose the cOrrect w

; Use each word once only: (24 marks) l 32. Too much salt is bad for me. but 1 couldn’t
i ' do up. do without) it altogether \
/ Duilt, finally, Earth, study, solar ! ( p. do without. e d h -_\
7. Gali 33, Nadia's lctter was s© Jifficult to read (so that
! 17. Galileo proved to the world that the ----- and the N ee) ahe had writien i Juickly. \
i’- i3, other planets in our ----- system meve around the _l—‘zrp(_%rTéEl’tie‘;';}béTn_bfr;cl;étstzﬂm(fa ﬁ;;rks) |
i 19, sun. ] is he ——oo- . e (1 e T\ |
I sun. To do this he a telescope through which 34, She ()l'ecl) red because she has been wravelling
(.’20. hie could ----- the stars, the sun and the moon. i for two days.

A Complete the following dialogue by writing 35. He (drive) nearly 1000 km by the time he

: : . . |
| suitable questions or answers. Write at least I stopped for a break.

three words for each question: (32 marks)

16. 1 (know) Ahmad since {wasachild l

N
21. Lama: . Hov. was. Your. Lasy hebaday ? |- - — - \
Rima: Our last holiday was IR X- Translation: \
» Our last holiday was very exciting. Translate the following sentence into Arabic: 'l
- ’ / |
22. Lama: . \heri . dad. Xo0. 96 2| (10 marks)

! Rima: We went to Cairo. 37. Al recyeling processes require eneray and "
. create some pollution

| 23. Lama:.\hen, dvd. ot arri Ve ... ”

*resmuyy

& Translate the following sentence into Lnglish: \

(8 marks) |

Rima: Wc arrived very late last night.

18, Ll sy, SV ael) Ue a ol deals

- 7 > |

| Lama: Why did you arrive iate? !

.
A LTI

i VI- Rewrite the following seuteiices as required a ‘ X1- (’,‘omposiii'm: o _(R(‘v;\arksf
} in brackets: (32 marks) | Wrilea composition of no less than 80 words on

= . | Y \.-' v {anic
25, My rcom is too small. the following topic: ‘

[ 2l RUINA: oo eeee e -

(use "ITwish" ....... ) |
Recommendations to solve the following, problem: |

6. Fares did not take his tooth out himsel(
" "VWery few tourists come tu your town because

! (use the causative verb 'have’)
' thev know nuthing about it."

! 27. Can I go out with my friends?

(report using "Hani asked his mother”...... )
, 28. Thousands of tourists visit historical nionuiments
I

‘ in Damascus.

(make passive voice) 1

END OF FXAM
147
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pdel answers: (1-3)
They live 1 (extremely) dry climates.
. They live in (extremely) hot/desert climates

_(An animal habitat / it is the place) where an animal li
ives.

5. Tree kangaroos (are different from oth -
ove (very) fast on the ground. er kangaroos in a way that they) can't

Model answers from (6-7)
¢ Kangaroos / Marsupials carry their young / babies in a pouch

' _ Kangaroos / Marsupials have a pouch in whi i
" Jerboas don't hav_e a pouch (to carry their yolsggﬁ;egalc)?g el young [ babies.
] Lizards would die if they were moved to the Arctic .

¢ _ Lizards would not stay alive if they were moved to th Arcti

_ Lizards lv_vou!d ?ot live/ survive if they were moved to ethe ,(e:\trl;ic

;Cltziifds ive in hot places / climate so they would die if they were moved to the
. Model answers (8-9)

8- (c) / enables people to find

9- (a) / far from

Model answers (10-11)

10- accessible

11- contain

Model answers (12-13)

12- nnes images from the Internet (onto the underside of the umbrella's canopy).
m avmiveeeas a three — dimensional map.

| S be cheap / be inexpensive / be low / be cheaper / be less than today.

.......... decrease / become cheaper than today.
Model answers (14-16)

Group3 From 14-24

14- and / in / as well as / in addition to / besides / plus
15- for / on/ of

16- his .

Model answers (17-20)

17- Earth : !9..!‘ 8 \ - ..n
18- solar s 7

19- built '

20- study

Model answers (21-24)

21- How was your last holiday?

- What was your last holiday like?

- What about your last holiday?

- What can you say about your last holiday?

- What do you think / say about your last holiday?
- How did you find / spend your last holiday?
- How did you feel about your last holidav2,_

T ————————. | iR T
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22- Where did you go /travel / leave for? o
- Which / What city did you go to / travel to / leave for?
- What was your destination in your last holiday?

- What did you do?

23- When did you arrive?

- (At) What time did you arrive?
- Did you arrive late or early?
24- (Answers vary)

Model answers (25-28)
25- I wish my room / it wasn't / weren't (so / too small).

- I wish my room / it was / were large / larger / big / bigger. _
- I wish my room / it wouldn't be (so / too) small / would be larger / bigger.

26- Fares / He had his tooth / it taken out. _
27- Hani asked his mother if/whether he could go out with his friends. _
28- Historical monuments in Damascus are visited by thousands of tournsts.
- Historical monuments are visited by thousands of tourists n Damasgus.
- In Damascus, historical monuments are visited by thousands of tourists.

Model answers (29-30)

past tenses
modals in the past PO
Model answers (31-33) .
.o ¢
re 4

31- at

32- do without

33- because

Model answers (34-36)

34- feels / is feeling / has felt

35- had driven / had been driving

36- have known / had known
Model answer (37)
bl ey g /A8 () s sl Slolee S 237
e [ANS S
S /e el rcilee
t_‘_".a:\l\ s j)g).ﬂ\

T > e N ‘ . -
e 2 N (5255 /755 e jhay i

Model answer (38) | . '
38- The capital (city) of a country is often / the greatest city with the largest population
- The capital (city) of a country is often / the greatest city and (it) contains the

largest population.
- country: state
- often: usually

- greatest: largest / biggest | |
- the largest population: the most populated / populous / inhabited

Group 6 - Composition

Alalmia edu ' gusarad Joal aadlall ¥ TIPEAA o duodacdl ddlell diSs 0 b
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(Rlayr 8,5 1 gigeu Laa
T.gkde;a_-'he following le;Then do tlie-t_as!cs i
below:

| Garrigues is an area in Spain where large

‘ :uuntier of people move from their homes in

_country areas 10°find better-paid jobs in lowins and |
cities, the villages and f\:mns they once lived i !

i are often left empty. lhi's pﬁenomcuun, which is

| called rural depopulation, can lead 10

I overcrowding in cities as well as 1o fewer people

I in country areas.

! Garrigues has a Mcditerrancan climate, low
winter iempceratures and an annual rainfajl level of
482mm. Historically | this was a successtul

agricultural area. But as farming became less and

. less profitable. and unemployment arew. the

i’ population began 1o move to the cities to find
work. Now some villages consist mainly of
elderly poeple. The area is sultering from the

j cllects of dcpopulation, such as poor pubiic

"services and deserted farms.

' [n some parts ol Europe in recent ycars.
iowever, the move trem the country to the city

has been reversed as wealthy pcople move (o the

' countryside to_escape from the overcrowding.
pollution and stress of city life.

" Answer the following questions: (18 marks)

| 1. How does depopulation affect Garrigues?

'
'

| 2. Whyv do rich people in some European areas

[ move from citics to the countryside nowadays.

3. Mention two characteristics of Garrigues

4_describing the countryside

4. ~omething that happens or exists

=00 A 5 g din

3 \ a - - -
Y g el A PR X PR
S e 333 P CUN-S . ] = im0l
L= o o = D8l (raled) & +in) - N
Dl (Y A it oS . .
T (AsY Zaiany

; conduct experiments that require one or more of

} 1 anrt N
microgravity). So far. most research has only

| #ind words in the text which mean the following:
' (10 mnarks)

Rewrite (hese sentences about the text to correct

the information: (12 marksj

. Nowadays, most inhabitants in the villages

of Garrigues are y oung.

7. As farming tmproved in Garrigues. man}

farmers lel} to the cities.

|
|
|
|
?
!

 —awy—
. -

srexm
.............
.........
.............
..................

BV Glsal @& e S Jied A3 ) Ay
1i- Read the following text the asks
ag text th
el cn do the tasks d
‘ A()l_]e‘nf the main goals of the Imermational
Space Station (ISS) is to provide u place to

the conditions found in space (such as

been on the effects of microgravity on humans.
Asltronaus study how long periods in space
affect the body by working on subjccts like bone
loss and uid shifis. The cftect of near
weightlessness on evolution. development and
, growth. and the intemal processas of plants and
! actimals. are now also the subject of research.
The physics of fluids in microgravity is not
i complelel_\: understood. In space. unhike on Farth, \
fuids can be mixed or combined almosy \
rcgardless of their relative weights. Rescarchers
also want to study the combination af fluids that |
| would not inix well on Fanth By examining \
| reactions that are slowed down by Tow gravity and
low temperatures, scientists also hope to gain
' new insights into the way matter 1s made up \
Rescarchers also hope to cxamine combustion
in an enmvironment with less gravity than on Fanh. ‘1\

Choose the correct answer a. b or c: \
‘ (12 marks) \\

| 8. Inspace. Nuids’ relative waights ----—-- the

'{ way they are mixed.

' a- influence  b- donotaffect  ¢- change
Astronauts have done researches on the

| 9.
l ___________

influence of
a- low gravity on humans

N Spacc

b- heavy weight an growih
¢- the external processes of plants

Match two of the underlined w ords from the

text to the definitions/meanings below: l
(12 marks) |

10. to make something available, o ofler

I

i1. the process of buming something

| Compleie the following sentences with information
| (12 marks)

from the text:

12, In (1SS, scientists do experiments that
nced

13. Working on bone loss and fuid shifts will

help astronauts 10

|
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—_—

I

. T - 3
. [11- Complete th aph D

1
! in the gaps:

. 14, Most people ag
important part of

ree that regular CXCreise 15 -

4 healthy lifestyle,

| 15, especially for people === spend most
olfices.

16. tiume at work sitting -----

1V~ Fill in the spaces with words frou

Use cach word once only:

prove, fill, home, best, mind

Thsune
Temanwy
LEETY

(7. Young Marconi had the ---—

|

18. him lessons at
especially those on science.

rew
SRR R RN RANLag,
.

and always wanted

. 19. He had a curious

o himself what he read.

- ’ 20. w0

——— ‘ - Complete the follow

(18 marks)

i S B TS S e
; i i \ril Complete the following sentences usin )
ing | -
| clauses: (14 marks) \
V 29. Hc has t© do his work again because ... -

of their

the hist.

(24 marks)

fcachers 1o give

| in Ttaly. He loved books,

R
ing dialogue by writing

..................
.....----v---"‘ e enaa,

AN awy

(A3 ixiuall)
ol Sa Dlah A8 A 4gd)y

ll ). ” therc were no JaWS. oo e

Choose the correct words in brackets:
(‘8 marks) \

uenthy (do, make) experiments o |

VIii-

. 31. Scicnitists freq
test their ideas

32.1'd like 10 live in a smali (peave, peaceful)
village near the sea

acacia ree is famous (for. of) being,

cted by ants |

(18 marks) \

33.Ihe
prO!e

1X- Correct the verbs in brackets:
34. When she (graduate ). she will get a new job

.choo!l teacher since

|
|
|
|
!\‘

35, Sofia (work) as apt imarn
she arrved in | ngland.

|

suitable questions or answ
ihree words for each question:

I'2]. Mona: __f'f/,_)'.\.<.)fc‘..r|.\‘.c\..)(o..u..9..0..'(...,..

I
e weekend

|' Rama: ] went to Aleppo at t
' 22. Mona: did You.endoy. Yaur

Rama Yecs. | enjoryed my trip a lot.

"even

23, ;\lona:A.M.b_o...d.ll.g‘.,xo..u..h\.es.'.\.‘,‘j}icﬂ,.?‘... 7

Rama: ] met some friends there.

Mona: What do youlike most about Aleppa?

24 RAMAT i ‘
owing sentences as required |

VI~ Rewrite the following sente
in brackels:

(32

25. Lhe streets are very dirty

l
/ (use "Twish” R, |

!
' {make passive voice)
27. Do you study in a college?

(report using "He asked me'')

- 28 My hrother cut his own hair himscit.

(use the causative verb 'have')

ers. Write at least

(32 marks) ¢ » )
" 36. While he (look tor) work. he was ollered two
i jobs. \
: - - \
ep? | X- Translation: . . !
‘I'ranslate the following sentenc into Arabic: |
(10 marks)
37. When taken in small amounts. ¢ afleme
| increases the circ glatzon and 1s con adered \\
harmless for most pcopic _
|

26. Birds oficn build their nests at the top of trecs.

| Translate the following senlence into English:
(8 marks)

—lds 2 das 45 2laled 3 =y -
- S

marks) -1

aTks)m

. XI- Composition: (30 m
Write a composition of no less than 80 words on

the following topic:

)
= \

END OF EXAM

2l Yo |
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Model answers: (1-3) 20165 alad Gt 3 ) & S BAgL s ol
L Ailadiayy BJ"_\“

Groupl From 1-7

- (The area / Gap‘igues / It is sufferi
- public services and desertod felllrlllngs’from the effects of depopulation such
such us)

_ (It can lead to / cause) poor public .
. wadays, Ri . services and d
: L(lrljt?‘}’sideﬁlto elsf:l; pe(}fle In some European area:Sr(:Ted arms. P43
count pe trom / because of overcrowd; ove from cities to
city life. ) rowding, pollution and stress of
_ (The area has) a Medi .
3- (f 1 level 482) edltcj:rranean climate, low winter t
rainfa mm and it was a successful aer: T temperatures and an annual
Model answers from (4-5) agricultural area.
4- rural
5. phenomenon
Model answers from (6-7)
- Nowadays i it : :
6- N ys, most inhabitants in the villages of Garrigues are old / elderly people /

not young.
- Now some villages consist mainly of elderly people

; ]\/Ixow;aQa}fs, lc;,)ss old / elderly people live in the villages of Garrigues

7. As farming became / grew less (and less) profitable in Garrigues rﬁany farmers

left to / for the city.
- As farming didn't improve in Garrigues, many farmers left to / for the city.

- As faqning became less and less profitable, and unemployment grew, the
population began to move to the cities to find work. ’
Model answers (8-9)

8- (b) / do not affect
9- (a) / low gravity on humans

Model answers (10-11)

10- provide
11- combustion
Model answers (12-13)
12- onnns (one or more of) the conditions found 1n space.
 aen s microgravity.
ace affect the body.

13- ciieeenn study how long periods in sp

Model answers (14-16)
14- an / the / one

15- who / that

16- in / inside / at
Model answers (17-20)

17- best ‘\}\ ' L ‘

18- home v *
19- mind *
20- prove

Model answers (21-24)

71- When did you go to Aleppo?

_ Where did you go at the weekend?

o
N gy
I .
i

- Y L
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{7
. do at the weekend’
- What did you do po at the weekend?

_ Who went to Alep
- Di o to Ale o or Homs / ------
zz?giziloyt(l)f enjoy ygﬁr visit / trip /Journey?
- Did you enjoy (your) -
- Was it a good visit / trip / JC
- Were you happy (in the visit
23- Who(m) did you meet there?
- What did you do there?
- Did you meet anyone there?

24- (Answers vary)

Model answers (25-28)

5. I wish the streets / they weren't (v
- I wish the streets / they were cleaner
- I wish they would clean the streets / them.
_ I wish the streets / they would be cleaner / clean.
26- Birds' nests / their nests / nests are (often) built at the top of trees.

(N.B): - If the student doesn't write "at the top of trees " deduct 2 marks.
27. He asked me if I studied in a college.
28- My brother / He didn't have his own hair / 1t cut.
Model answers (29-30)
20- ... (Answers vary)
30- ....... (Answers vary)
Model answers (31-33)
31-do
32- peaceful
33- for
Model answers (34-36)
34- graduates / has graduated
35- has worked / has been working
36- was looking for
Model answer (37)
(oulil) alina) Jls b g [ sadl) 55l £ e 40l / ALE DSy LSS J g5 e 137
B ] ) o g
e [ il soiaS B
L/ Shas/ il cf e |
2l Ja [p )5 tagsadd) 5
B o | sisa s a
: b 58\ [AAS aliaa

) 2 el

going there?
/ joumey?

/ trip / journey)?

ery dirty).
/ clean.

-
.
"
=
-
w
*
-
.
-
.
-
-
3
.
-

Model answer (38)
38- Scientists found a new way / to recvcle rubbish.

- found: came up with / found out / discovered / created |
- npew: modem / different |
- way: method

- rubbish: the waste / the garbage

Group 6 — Composition

LT R kY | L et

Scanned by CamScanner
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(Hay 4,

below: .
The capital city of a country is very often its
test city. with the largest population and the
most important administrative buildings,
ovcmmem'ofﬁces, as well as embassies from
other countries.
Damascus is no different from other capital
cities in this respect — it is the seat of government
and the economic and cultural centre of Syria.
lem a popuiation of around 5 miilion people,
pamascus is considered the oldest city in the
world. It has been continually inhabited for
thousands of years. The commercial and
administrative centre of the city is located in the
modem part of the city, outside the ancient walls.
Brasilia, the capital ¢city of Brazil, is both
similar to and different from Damascus. Like
Damascus, it is an administrative centre and
contains the key political buildings and
institutions. However, unlike Damascus, Brasilia
is not the major cultural or economic centre of
Brazil.
Brasilia is a very modem city and because it is
so new, planners were able to strictly regulate its
layout.

Answer the following questions; (18 marks)
1. What buildings are characteristic of capital
cities?

| 2. Why is Damascus considered the oldest city in
the world?

3. What are the similarities between Damascus
and Brasiiia7
Find words in the text which mean the following:
(10 marks)
4. the offices of the representative of a foreign
~ country
5. placed / situated

(4.4
nio

€ sen

C t
(12 marks)

wnA

T o» ' S 0-
1 he commercial ana adminisoalve ¢nuc G

Damascus is inside the walls of the old city.

-~
Ve

Both Damascus and Brasilia are the major
cultural centres of their countries.

—.‘1

W B () dada)
o I Upa Az y,

B "~.*‘\
J-Read followin then do the ta

(ralan (&)}

M e e G Gay B3 ) Y )

the foll etlksj

below:
\

helps to conserve these non-renewable resources.

_ Recycling glass is easy and inexpensive. Glass
| picces can be melted down over and over again to
| MaKe new glass containers. The recycled pieces
incit ui u lower emperuiure than the mw
materials. Therefore less energy is required.
Recycling glass also reduces the environmental
damage caused by mining the raw materials that
are used to make glass.

Paper mills tum wood into a thick liquid called
pulp. Pulp is spread out and dried to produce
paper. Pulp can also be made from used paper,
such as old newspapers. Most paper products can
only be recycled a few times. Recycled paper is
not as smooth or as strong as paper made from
wood pulp. Each time paper is recycled, the new
paper is rougher, weaker and darker.

Chyuse ine curreci answer a, b or ¢:
(12 marks)
8. To produce high-quality paper we use pulp
made from

- text t

Common metals such as i ini
iron and aluminium
can be melted down and reused. Recycling metal
saves money and causes less pollution than
processing new metal. Recycling metals also

|

\

a- used paper b- wood

c- recycled matenals

9. Processing new metal than recycling it.

Ihtian

8-CALISES MOre po
b- needs a lower temperature
¢- costs iess money

Match two of the underlined words from the

text to the definitions/meanings below:
| (12 marks)

|

' 10. natural; not changed by humans
| 11. became a liquid by heating

1

! (12 marks)
s
|12 Recycling glass requires ..........cooovirriess .

| 13. Afier recycling paper many times. it
| becomes ...

., LA k) ) iy

5
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14. Sand gazelles are small mammals. They are very
quick and have been known -----

15. aimost 100km per hour. They are excellent
jumpers and use their speed ----- agility

16. to evade ----- attention of predators.

(Reta) Aty A O poad Ay JAH g i spd ol &0 SARY Sumy S5t A A 483)
m- followi VII- Comuiete the following scniences wi j
by fllling in the gaps: (18 marks) clanses: (14 marks)

reach speeds of

29. If I were & dOCtOr, ...oovimmureimssemene R

30. Omar's letter was difficult to read
DECAUSE .ocvvemvencrsrmeseamssnsansesanssessss .

§%11 8 w i

(18 marks)

Iv- ip ¢t words from the list.

18, could ge! work and - --- Marie the money

| ] wor (24 marks)
girls, last, studying, tears, send 32. I've just heard the door (bang, splash).
17. After Marrie's sister finished ----- in Paris, she 33. It has been a (disaster, disastrous) year for the

31. Many people recycle their rubbish (because,
in order not 10) use up the worid's resources.

tea industry.

IX- Correct the verbs in brackets:

(18 marks) |

19. to study there herself. With ----- in their eyes
20. the -—-- parted 34. The original Mont Blanc Tunnel (be) completed
r — in 1965.
mplete the following dia dfing | |
ns or Wri( st | 35.Sami (write) an essay &ll moming. That's why
three words for each question: (32 marks) he is very tired now.
| 21. Deema ............................................................ ? 36. My uncle finally p i his driving test. He ,
Hiba: I'vc got my guitar from a local shop. (iake) the Lesl three times aiready. X
22. DeeMmIA:.......ccvoeeeeeeeeee e s ? 'X- Translation: j
Hiba: I have had it for three years. 1 nt to Arabic: }
23 DEEMAB ... ? (10 marks) |
Hiba: It costs 30000 Syrian pounds. 37. Nobel was fluent in five languages and had a
great interest in literature.
Deema: When do you play your guitar?
24. HIbR: ..o .| Iranslate the wi to English:
1 { \
VI- Rewrite th 0 ences as regu ‘ (8 marks) \
in brackets: (32 marks) | 38. eal plaldy il o all ol pealy - |
" ol \
25. ] can't sing very well. NP JURGATY (1% g Lag ,
(use "I wish" ........) Poclors advic naeXceits i
- . XI- Compotlition: (50 marks) |
26. She didn't repair the car herself. 7 c ition of 80 \
(use a causative verb) the wing topic: \
7. jo ing time with each other? i . |
27. Do you enjoy spending o I . su " cons |
(report using ""He asked them") , ‘
’ . ' water.” |
I 28. Syria has made a lot of efforts to save ‘ = \ |
| endangered animals. |
! (make passive voice) | "‘
END OF EXAM
Ay gl
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“Model answers: (1-3)
_ The most important adminj ; iy

1 from othgr countries / T;::l]f:;:;gﬁﬁé’;}dgn.gs,_governmem offices

2- Because it has been (cgntinually) inhabit:‘;llqcl)r?gts{

3- They are (both) administrative centres and co;L;iEL:;tnss oF years. )
Model answers from (4-5) key political buildings and institutions
4- embassies / embassy 5. .
Model answers from (6-7)

6- The commercial and administrative centre

7- Unlike Damascus, Brasilia is not the m
- Both Damascus and Brasilia are cap

Model answers (8-9)

8- (b)/wood

Model answers (10-11)

)

located

g of Damascus is outside the walls of the old city.
ajor (?L}llLlral or economic centre of Brazil
ital cities. '

9- (a) / causes more pollution

10- raw 11-  melted

Model answers (12-13)

12- oo less energy and lower temperature.

1 - fhes e l(ouollﬁ-l, \Veakel and dal‘ke (N B lf [ ] y

Model answers (14-16)
14- to 15- and/as well as / pl i iti : Ry
Model answers (17.20) plus / in addition to / besides / with/or  16- the /any
17- studying 18- send 19- tears 20-  girls
Model answers (21-24)
21-  Where have you got your guitar from ?
- From where have you got your guitar?
22-  How long have you had it ?
- For how many years have you got  your/this /the guitar?
23-  How much does it cost ?
- How many (Syrian) pounds does it/the guitar cost?

24- (Answers vary)

Model answers (25-28) 4 ] O ] | E ! ‘

25- 1 wish I could (sing well). - .
- I wish I was / were able to (sing well).

26- She had it / the car repaired.
727.  He asked them if / whether they enjoyed spending time with each other.
728- A lot of efforts have been made to save endangered animals (in Syria).

Model answers (29-30)

29- ... second + third conditional. 30- past tenses.
Model answers (31-33)

31- 1inorder notto 32- bang 33- disastrous
Model answers (34-36)

34-  was 35-  has been writing 36- had taken

Model answer (37) -
ey D) eed 2 Jip S -3

- s o
-y 1 . | - ace J, 7 2anNl B B/l gl e T
..../—.’\P)""-T'CJ}‘-,).‘HS‘?M\ JE:J_-‘ Ao /) JJL‘:, / -

Model answer (38)
38- Doctors advise with / regular exercise and healthy foo
build a strong body.

d/ because they are very important to
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I- Read the following text then do the tasks
below:

Zoos exist all over the world becatise people
want to see animals that they cannot see in their
own country. They have always been popular,
especially with children. However, some people
believe that they are unnatural habitats and that
keeping animals in zoos is cruel.

There are two arguments in favour of zoos.
First of all, many people, including
environmentalists, believe that zoos help to
protect animals which are endangered. In zoos all
around the world, rare animals are bred so they
increase in number and are saved from extinction.
In China, numbers of the endangered giant panda
have begun to increase following successful
breeding in zoos. Eventually animals can be set
free to live in the wild again. Secondly, z0oos are
educational. People who visit zoos can observe
unusual animals up close and learn about their
behaviour.

However, there are arguments against z0os.
The main objection to zoos is that it is unnatural
for wild animals to be kept in captivity. Another
argument against zoos is that they may be located
in places where the climate is very different from
the climate of the animal's country of origin.
Answer the following questions: (18 marks)

1. Why do people visit zoos?
2. What does the word 'They' in bold refer to?

3. Mention one argument against zoos.

(iakay) T () e Ao S5
—

Find words in the text which mean the following:

i alal) A ol Asal ya)) B o

(atad g4
(u.bgl\ iaial)
g5l o) e G SVoaal) 585 A 4l

11- Read the following text then do the tasks

below:
Alfred Bernhard Nobel (1833-1896) was
a Swedish cherist, engineer, INnovator,

armaments manufacturer and the inventor of
armaments . .
dynaraite. He was educated in Russia, France and

the United States. He was fluent in five languages
and had a great interest in literature. Nobel died in
1896 and was buried in Stockholm.

On November 27, 1895, Alfred Nobel made
his last will in Paris. When it was opened and
read after his death, the will caus;d a lot .Of
controversy both in Sweden and internationally,
as Nobel had left much of his wealth for the
establishment of 2 prize! His family opposed the
establishment of the Nobel Prize. and the people
he asked to award the prize re fused to do what he
had requested in his will. Thus, it was five ycars
before the first Nobel Prize could be awarded in
1901.

Presentation ceremonics arc held on December
10 . the anniversary of Nobel's death. The Nobel
Foundation in Stockholm supervises the awarding
of the prizes, where all prizes arc aw arded, while
the peace prize is awarded in Oslo. Norway.
Choose the correct answer 2, b or ¢:

(12 marks)

* 30}

A le) aany

8. Nobel Prize is presented
a- at the beginning of each year
b- in the memory of Nobel's birth
¢- in the memory of Nobel's death

9. Nobel's family disagreed with Nobel's

a-interest in literature

4.see / watch

5.situated / placed

Rewrite these sentences about the text to correct
the information: (12 marks)

6. In China, after breeding the giant pandas in

zoos, they are kept in captivity.

One of the arguments that supports zoos 1s
that they endanger rare animals.

(10 marks)

b- will to offer a prize
¢- invention of dynamite \

Match two of the underlined words from the

text to the definitions/meanings below: 1
(12 marks) |

\

| 11. military weapons and equipment ‘\
‘ .
' Compieie the following sentences with information |

| from the text: (12 marks) |

|
|
|
|
|
|
|
|

|

1
| 10. asked politely

112. Nobel was an educated man and could

| SPEAK
13. All Nobel prizes are presented in Stockholm
eXCEPL .
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—Complete the following paragraph by fillin <

/)’_—JLK_L_‘;E VII- -
w jn the 2aps: (18 marks) Complete the following sentences usin 1
rks

clauses: (14 marks)

jved on Tuesday eveni -
4 ﬂv:/li gar:::ii i was sof u; ourn::i :)l.nd -- first z‘; K::;She was leaving, ....................... .
5. The s ky was very clear and we could see . remember where ....................... .
millions ---== stars. VIII- Choose the correct words in brackets:
16. The next r.norning we visited the Roman city----- (18 marks)
was amazing. 31. We must do something about climate change to

(protect, survive) our way of life.

Fill in the spaces with words from the list.
Use each word once only: (24 marks) | 32. Ahmad went to the airport (in order to, so that)
meet his brother.

V-

turning, useful, burn, paid, produced

33. The students can (make of, make up) a story

‘ about their recent holiday. T

18. Edison invented. He knew that electricity ----- IX- Correct the verbs in brackets: (18 marks)
power and heat.

17. The electric lamp is probably the most ----- thing

34. Water is the most precious natural resource. 1t

19. He looked for something that would ---— for y . . .
 long time without being used up. (21\333 )a central role in agricultural production.
35.1 went to see Fadi in hospital. He (break) his

20. In 1879, he changed night into da}f by oooon leg during a football match.
several powerful street lamps outside his

laboratory.

Complete the following dialogue by writing
suitable q;es;mns 01: answte?rs..\Vrl(;:Zat lea's(l) "X- Translation:

three worcs or);aac ‘ques 1on: ( ma'r sq ' Translate the following sentence into Arabic:
21. Maher: .\ s Y. AvALYon.2.a. e K len ? | _ (10 marks)

t
37. Recycling glass reduces the environmental
damage caused by mining the raw materials.

36. While sofia (study) in Britain, she met her old
teacher.

V-

Anas: | went to Mexico last year.
22. Maher: .ot e AVA Yoo ook ?

- I met the world's oldest married couple. -
Anas: 11 ' . | Translate the following sentence into English:
23. Maher: Mow. Lensg. hoave. Thaa b
C e Warrid (8 marks)
Anas: They have been married for 70 vears. (
8. S sl Ca

o ;
Maher: What was your (rip like? -1‘
| He leow |cald covrt fro bno, Boushin Preve
' l
|
|

2. ATVAS: coeveeeveneereeneeeneimsene s XL Composition: (50 marks)

fV'_ Rewrite the followini—sen(enccs as requi;d_ﬁ“{ Write a CO-mDOSIl‘IOD of no less than 80 words on
in brackets: (32 marks) | the following topic:

25. Shopkeepers sell different items in the souks )

of Damascus. |

| N \P;' Saall 23 e —

i u V)

e

(make passive voice) " An article giving advice to people of your Own
b ' | age about doing well at school.”

26. I'm very shy about talking in public. L
\

(use "I wish" ........)
27. We took our grandchildren on holiday.
(report using "They said'") l\
28. They didn't take this photograph of their family. |

(use a causative verb) L
K. . O O OO
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i ! ountry.
nals that they cannot se€ 11 their own country
1

Model answers: (1-3) .

]- (People visit zoos) O 5€€ anl
2- 'They' refers to "zoos". - aptivity-
3- It is unnatural for wild animals to be kept in capP

Model answers from 4-5)
5. locate(d)
they are/ can be set free (to live) in the wild

4- observe
Model answers from (6-7)

. : in z0OS,
6- In China, after breeding the giant pandas 1n Z

s that they protect rare animals/help to protect

again. .

7- One of the arguments that supports 2008 |
animals which are endangered.

9- (b)/willto offer a prizeé

Model answers (8-9)
8- (c)/in the memory of Nobel's death

Model answers (10-11)
11- armaments

10- requested

Model answers (12-13)
five languages (fluently).
ded in Oslo, Norway).

e / one prize (which is awar

which / that

12-
the peace priz

Model answers (14-16)
of 16-

14- the 15-
Model answers (17-20) ing
17-  useful 20- tmine

Model answers (21-24)
21- Where did you go last year?
- Did you visit any foreign country? A | Q ..‘ ' %&2-‘ '
% *e .

18- produced 19- bum

22-  Who(m) did you meet there?
What did you do there?
How long have they been married?
- For how long have they been married?
24-  (Answers vary)

Model answers (25-28)
25- (Different) items are sold in the souks of Damascus (by Shopkeepers).

26- I wish I wasn't/weren't so shy/very shy about talking in public.
27- They said they had taken their grandchildren on holiday.
28-  They had / got this photograph of their family/it taken.

23-

Model answers (29-30)
only past tenses are accepted.

29- (answers vary)
30- (answers vary) all tenses are accepted.

Model answers (31-33)
31- protect 32- inorderto

Model answers (34-36)
34- plays 35-  had broken/ broke 36- was studying

Model answer (37)
ARl sl e el e ST /) el e JIB a3 565 o) 237

/4 oy A 10 U Gl / G el syl casay e aiaiidle) /S5 6N
A Y ol sdl el sl e Sl /21 jan) sl e Jalall /4w o3

3- makeup

Model answer (38)
38- He left (the) court a free man / because he (had) proved he was innocent.

- left: went out from - afree man: free - proved: showed - innocent: not guilty

Group 6 — Composition g sl 150"
Alalmia.edu ‘Jgwais e sl aaslald

Scanned by CamScanner



.....
..............

. .‘; : ; : w-'-jul ,ﬁl—s - 5 ‘C] ,_ ‘&‘ ,_‘, .u _, A —nhm
’ . \ ( tn) .m) - — - .
g sx uJ! u“' s ¥e il 3
) \JJ | 52 fAJ&‘ il “HN. Ak P"Ju‘\ = )

, the following text then do the task ’
I‘g/end,-—-—-—"—‘g——\“ I II- Read the following text then do the tasks !

i %d gaz_elle is a horned animal that lives bel“owi
o ‘he Arabian Gulf and North Africa. ™ One of the most significant moments in [T
‘ e summer months, sand gazelles [ive n 1story occurred at the close of the twenueth
. Smﬂ” iy grOUPS of around ten indivi duals. century when experts predicted that computer
puring the Winter, they congregate in larger S[jvstems would malfunction at midnight on 31
- hey arc ideally suited to the descrt thc::clrjﬂber 1995. Computer scientists speculated
- 11 programmes would stop working or produce

envjronment with their white heads and sand-
coloured bOcEics. This allows them to blend into
the desert. camouflaging them from predators.

incorrect results because they stored years with two
digits instead of four-98 instead of 1998, for

Sand gazelles are small mammals, weighing ::;:‘Selﬁt:: 123 (f))gh;ixﬁ:c;‘:c)iﬁ 20(?3(»; Qu‘d *e
only 20 kg- However, they are very quick and software as the ve‘ar 1900. This bcc;'ll;\p:i\‘;mm% as
have been known Lo reach speeds of almost 100 the Millennium Bug. or the Year 2000 Problem

km per hour. Thcy. arc excellent jumpers and use | They predicted that 1T systems, ranging from -

| their speed and agility toevade the attention of mctecorological devices and hospital eq?;ipmem 10
!'predﬂto"'s- data storage systems in govermnments. banks and

¢ sand gazelle is in danger of extinction, airports. would fail. [t was thought that embedded
mainly due to habitat loss and hunting. I Towever, | systems that also made use of date logic, such as
i there have been some efforls (o save them, and utilities and other crucial infrastructure, would
some countries have begun breeding them for collapse too. When midnight arrived. the

Millennium Bug causad only minimal damage;
some Australian bus-tickel machines failed 1o work
and a few British banking transactions were
temporarily disrupted Many still debate whether
the Millennium Bug's lunited elfect was thanks to
substantial government expenditare or whether its
predicted threat was over-stated by the media.

releasc into the wild. There have been some
successes, but the battle to save them and other
native species continues. In Syria, there is an
increasing awareness about the importance of
saving wild animals.

Answer the following questions: (18 marks)

1. Where does the sand gazelle live? | Choose the correct answer a, b or c: \

| (12 marks) |
Some scientists predicted that ['l programmes
would give —-- results because they
stored years with two digits instead of four.

' 2. How docs the body of the sand gazelle protect
I it from harm i the desert?

3. Why is the sand gazelle in danger of
extinetion? a- nght b- wrong ¢- accurate
Find words in the rext which mean the following: |9. Thc damage caused by the Millennium Bug
(10 marks) Was =-=m—asm-- (
‘ 1 | - gred g - small
: , 4. escape or avoid | a- great b- big ¢- sma!

' . her animals " Match two of the underlined words from the
5.an animal that kills and eats other animals text to the Tefinitions/meanings below:

(12 marks) -

10. fixed firmly and deeply in a surrounding mass. |

| \

11. 1o fail to work normally.

Rewrite these sentences about the text 1o correct
the information: (12 marks)

6. Sand gazelles are slow and their top speed 13

50 km per hour. Complete the following sentences with information
(12 marks) |

e : from the text:
7. Recently, people in Syvria have become less -

aware of the importance of saving wild animals. 12, In Australia, the Millennium Bug caused .......... -

'i
13. The predicted threat of the Miilennium Bug \\’us‘.\‘
expressed strongly by o e
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I1I- Complete the following paragra bb‘ﬁl_‘ﬁ

(18 marks)

in the gaps;
14. In the last hundred years, people have ----- living
longer and longer. Yet, therc are still many
15. aspects of our lifestyles ----- could be improved.
16. Doctors advise that regular exercise -----a healthy

diet ure crucial 1o our well-being.

v Nepy o - . -
IV- Fill in the spaces with words from the list.
Use each word once only: (24 marks)

ground, several, himself, enjoyed, curious

17. A great fire bumed before the
a six-year-old boy.

eyes of

18. He ----- every minute of it, even though it was
19. his father's store that burmed to the —--- . Later

20. he said he had started the fire

V- Complete the following dialogue by writing
suitable questions or answers. Write at least

. three words for each question: (32 marks)
2L SOMEL: ... ?
- Nada: My brother liani travelled to Australia.
: 22 SAMECK: ..o s ?
Nada: He is studying medicine there.
PARTINYY (1) o SRR UR PRSPPI ?

Nada: He has been there tor 5 years.
Samer: What are the advantages of moving
! abroad?
] 24, NAGA: oo :

"V1- Rewrite the following sentences as required
in brackets: (32 marks)

25. They made the halls wider than the rest of the

tunnel.

(make passive voice)
26. You are always losing things.
(use "I wish" ........)
27. Are vou enjoying married life?
(report using "'She asked them")
28. People don’t service their cars themselves.

(use a causative verb)

vi- Co (14 marks) ;

VII-

I1X- Correct the verbs in brackets:

X- Translation:

-JLLV,S v Fdt Dcolty Thesvunp The tiont ¥

|

" Yord - 2 ““‘ &
: :ij: TR (it 4 —
CHolin i (Agiay dabeat) sy Sy Iisnd ) 3 42)
IS /¥« o/ 2dg 0l S Y Sumi O J g
) digua JAIG VS wad &
-
(Glay By A Rk lete the following sentences usin !

clauses:

29. When I was at school,

30. I am so busy DECAUSE .evneemeeesemrsanranee .
ct words in brackets:

Choose the correct Worces In Drackets:
(18 marks)

ent, talented) in many

31. My brother is (tal
different ways.
32. If I (make, do) a mistake now, I'll be punished.

ew flat. I can't (come up

'm looking foran
33.Fm o g the noise of the traffic any
—_—

with, put up with)

~longer.
(18 marks)
34, We (have) a family celebration next week.
Would you like to come?
35. Samer couldn't contact his brother, Khaled.
He (switch) the phone off.

36. I'm really tired. 1 (not sleep) very well recently.

<

Translate the following sentence into Arabic:

(10 marks)

37. Bacteria are tiny cells that are responsible for

spreading many types of diseases.

Translate the following sentence into English:

(8 marks)
38, el oo ae e il (D el - |

X1- Composition: (50 marks)
Write a composition of no less than 80 words on
the following topic:

g

1
|

ons which might help to solve the \
|

i

" Recommendati

following problem:

(very few people come 10 your town because

they know nothing about it)."

-" lY

-1

END OF EXAM

A1

-
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7. it lives 1 t1.1e Arabian Gulf and North Africa. j
5. they are suited to the desert environment with their white heads and sand-

coloured bodies.
3. the and gazelle is in danger of extinction because of habitat lose and hunting

4. evade 5. Predator(s)
6. sand gazelles are quick and their top sbeed is 100 km per hour
7. recently, people in Syria have become more aware of the impénance of saving
wild animals.
8. (b)/wrong 9. (¢) /small

10- embedded 1 1- malfunction

12, coenees the stop of bus —ticket machines to work.
3 13. .een the media

14.been 15. Which 16. And

17. courious 18. Enjoyed 19. Ground

71. where did your brother hani travel to?
72. what is studying in Australia?
23. how long has he been there?

74. To discover new cultures. S

25.The halls were made wider than the rest of the tunnel.
26. I wish you wouldn't lose things.

20. himself

27. she asked them if they were enjoying married life.
28. they have their cars serviced.

79. ..... all past tenses
30. ...... all present tenses + futuret correct modals +~ simple past
31. talented 32. Make 33. Put up with -
35. Switched 36. Have not slept -

X 375‘):\35&‘_Fi‘).;—!&\_\;o‘)u\_1‘)_\3\_“ ‘
although he wasn't responsible for the accident.

IX | 34. will have
X

| leras —

*®
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below:

computers (o help them commit cri

I- Read the following text then do the tasks 7 Ti- Read the foll

The law related to computer crime is changing
| very quickly. Modern criminals are using,

tnes like

identity thcft and to makc it easier to conunit old
crimes like thelt or fraud. One issue thut makes it
hz}rd to fight computer crimc is that this typc of
' offence is often more difficult to solve than
traditiona] crimces because the criminals arc

..............................

(gaind g ~4Y)
(LAJH‘ la‘-nﬁ)

owin; text then do the tasks
below:

Daily life inside an airtight space Sh}ltﬂe or
space statien rcquires much more than just
oxygen and heat. People require the c§»nec1
atmosphere, @ mechanism for TCMOVINg, the
carbon dioxide that living things Qrodfme, and
a reliable means of dey -to-day living in

microgravity (ways of eating. drinking and

v
9 RS P L ol

washing. for example).

o L4

| invisible and thcir actions may be hard to prove.

Another issue is that it is quite difficult to AL the start of the 1960s. wrtl)t_:n ijdG;g(laz:\ L
prosecute a computer criminal successfully went into space, the fgodﬁwas ne-.su.(; — :1~ i
becausc usually nothing is actually stolen or in small aluminium tudcs. }ood was desizned this
physically damaged. ’ way so that it wouldn't take up oo much room

Ip recent vears computer crime has increased and could be eaten in 2 single mouthful be fUl’L: n

- . , - s H ids. a s N 1S
as the number of people using the Internet (0 buy ﬂoa'ted away. Wh-a ! flmkm‘g .‘\%Lf‘?b 1‘] ?:f; : 1
| things or to access their bank accounts has grown. uscd to suck the liquid out of a sealet package.

“ ‘si ' I s ’ “anp
SEaay
Yeany
LLTTN
ne
[ ! LL T T .
. etaeyray
. . vease
e LTI
———— Y v aveaa,,,
rrieny,,

~This new type of business has attracted techno- mustn't spill or float out of the cup, vr it could !1
criminals who order goods without paying, or damage some ol the COmMPpULCTS.
| break into the computer systems of businesscs People need to keep clean in space to sty
. and move money to their own account ot send healthy and avoid spreading germs. They do ths
, viruses which can seriously damage computers by washing themselves with cthanol cloths or wet
+ and the information they contain. towcls. and they use special shampoo that does
Computers allow criminals access to millions not need water or produce fgulu. Each astronaut
of people whom they may persuade to pay for in the crew ha:s_a SPCC."’f‘C a\f!‘;f“ed role and \
something worthless. . receives intensive training tor it \
Answer the following questions: (18 marks) Choose the correct answer 2. b or ¢ i
1. Why are modem criminals using compulers? e 3 (12 marks)
8. In space. astronauts’ food could be eaten by \
2. What does the word "they' in bold in the text pulting into the mouth --——-—- . \

above refer to? a- using forks b- at one ume \

: - c- usSing spoons
3. What makes it more difficult to prosecute

colnpu[er Criminals ? 9, In space. 1f water )Ti“\.’d or '1031’&((& out of
a container. the computers could become --—--- A

-.n..----n--.b- Ill't'lllllii AL
LETY
5
"

Find words in the text which mean the following: - SIS 61 ;
(10 marks) n- useless b- L pdated ¢- useful

Match two of the underlined words from the
| text to the definitions/meanings below:

| 4a bad program which damages computcrs

! - . . | -
i 5. (0 show that something is truc (12 marks)
: 10 a system of parts working together in a maching
Rewrite these seatences about the text te correct 10. a system of parts working together in a machine
! the information: (12 marks) | 11. 2 form of transportztion that travels back and
. forth between two places ‘
6. In recent vears the number of people using the \
) Complefe the following sentcpces with information |
! internet has become lcss. \

| from the text: ’ (12 marks) “'1
7. Computers help criminals to p ersuzde people 12. Astronauts must remain clean i space in order |
| to buy valuable things. )

|

; 13. To be able to do the job well, each asironaut in \
L. thscrew.. oo
L

3imia.edu ‘Jgasuss AL }iaii.d“‘- A
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Jete the following pa W\T - : < X

pomplete he fo SR Daragraph/sentences ' '
th : vu-

b plling fo (. B2R2 (18 marks) S&Tsel:.‘e the following sentences usin

- . modem building is located -—--a resident; - (14 marks

'a" red in the suburbs of a large city. residential | 29, 1 went to the market because )
.—-small gard i

pas-— small garden with recently planted trees | >0- If You want to improve your health,

It
shrubs.
and VUI- Ch
= oose the correct w i N
The propert}'t----’-t ;rurrounded by a low wall ords in brackets:
; i arates it fro i .
which sep m a quiet street. 31. Tm going to (make, do) a success oélr:yﬂ;:;ks)

_Fill in the spaces with words from the list. | job.

|" Use each word once only: (24 marks) .

i Jse each WOIC ONCE ONTY: 32. Fadia didn't go to school yest

| utting; » mouth, work, carried, same in order (o) fhe was ill. yesterday (because,

poctors heard of Pasteur's ---— . They began to 33. Aver ing
3 R age (earn, eamings) are expected to

| pe more careful. \ double in the next ten years. .

18. They stopped ----- people with different kinds IX- Correct the verbs in brackets: (18 marks)

19, of illnesses in the —--- room. Germs could . \
34.1 feel tired. I (not sleep) at all for three nights. |

20. be — they thought, frgm one person to the . -~
other. 35. Hiba (have) a new jo@ she graduated.

y- Complete the following dialogue by writin \ 36. They (play) a football match next week.

suitable questions or aNSWers. Write at least

three words for each guestion: (32 marks) | X- Translation:
' Translate the following sentence into Arabic:

e iimemiiessesesessseressaasesra e ?
21. Ruba: ...cooinnineenns . : (10 marks)
Mazen: [ was born in the country: | 37.Doctors urge people to monitor caffeine intake
22. 1] 17 EYRUUPRO R AL AL ? \ durin g very hot weather.
_ Mazen: I've lived there for eighteen years \ Translate the following sentence into English:
] . . ass ?
1 23. Rllbﬂ ........................................................... | (8 marks)
‘ Mazen: | enjoyed the open-air life. | 38. il ) m b 2l ehAY (BT
. ) \ . \
Ruba: Why did you leave the country’ ! ERTNCPFR o

! 24, MBZEIE . evenvanrnseemremnsensesmssssssmms s s S MW
e “,“'—"%’—“——L- o (50 marks)

VI- ite the following sentences as required | XI- Composition:

VI- Rewrile Write a composition of no less than 80 words on

in brackets: (32 marks) e 2 composic
j ilt thei wing topic:
25. A local builder built their house. the following top
aking recommendations which will

(make passive voice) i " A report

1 S by . ter
26. 1 can't speak French.  morove road safety in your 10WR Of aty.

(ase "I wish" ........) ,.
27. He is not going to take his own phote. '

(use a causative verb) ]
28. Have you enjoyed your holiday? '

BT

- ——-—-L-‘.”“"““"/’_
AT f“1 AA “ N !__4
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1.

2.it refers to "computers".

To help them commit crimes
>hysicall damaged.

|
| 3. because nothing is actuall stolen or
4. viruses 5. prove - : become more
6. in recent years the number of people using the mt:mgrh\:,irtmess things.
7. computers help criminals t0 persuade people 1o P2y
| I 8. (b)/ at one time 9. (a)/ useless
[ | 10. mechanism 11. shuttle
12. ..... stay healthy/ : . ining for it.
E ]l 13. has a specific assigned role and receives intensive trainif
I | 14.in 15.a 16. 15 :
. 2 ed
LIV l 17. work 18. Putting 19. Same 20. Carml

where were you born?

vV [21.
22. how many years have you lived there?
23. what did you enjoy (there)?
24. because 1 missed my country. —
VI | 25. the house was built by a local builder.
26. I wish I could speak French.
27. he is going to have his own photo taken.
8. she asked them if they had enjoyed their hohd?ﬂ"- ‘ N
VII | 29. ... All past tenses + simple present tense + sqﬂab\c modals.
30. ..... simple present tense + present modals f’t_uitgg_l . _ o
VIII | 31. make 32. Because 33. Earnings __ )
| IX | 34. have not slept 35. Had . -‘(‘ Will play B
[ X [37. ol Gkl b il ke Jpmade e eVl e
| XI | 38. in Autumn, a lot of animals migrate to the south 1o find food.
| e [ —
L 4
¢ ' L 2 4 '
L 2 4
L2 4 L 4
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(T-Read the following text then do the tasks II- Read the following text then do the tasks
below: below:

The rainforest of the Amazon region of Brazi| — L _
in South America is home to at least 30 percent of | . There is no day and mgh_t 10 space, 50 sl.ccp 15
e world's animals and plants. The area is also simply planned fgr when it is most convenient.
the home of 220,000 people from about 180 Astronauts sleep in small compartments using
different tribes who live deep in the forest. The sleeping bags. Thcy. are loosely strapped into
rainforest itself is an important environment but, lhe.sc $0.thal ﬂ"ley will not float out of them in
because of its size and location, it also plays thel.r sleep. Blindfolds and CUP]UQS' are 8130.

a vital part in controlling the world's climate. available for the astronauts, who might find it
Recently, however, large arcas of the Amazon d’m“?‘“ to slcep with the noise from the
minforest have heen cut down to make mare Jand !nachu}cs. pml?’ routines stu?uld'allocate eight
for farmers. [n'the last three years, for example. I}?L_IES Tor sneel;') ing. Most of the umc’jf:wcv“’
70,000 square kilometres have been destroyed. &

asuonaits wii uuuuan] uw"p for arcund six, as
Much of this destruction, which leaves the land they often have so much work to do.
dry and dusty, is illegal.

Another important part of spending any long
- Other areas of the rainforest are cleared by

period in space is getting the right amount of
i i i ' sta
rachers, loggers, or oil companies. This helps to exercise so that the bones and muscles can stay
improve the economy of the region, but at the

strong. On Earth human beings are always
. ) . b th
expense of the future of the global environment. moving against the force of gravity, with the
In addition to destroying ancient forests and

bones and muscles supporting the body. In space
chnging the world's climate, deforestation is

there is no gravity so the bones and muscles
. . . . weaken very quickly. In space, astronauts need to
having a devastating effect on native populations v quickly. Io sp
| wio are dependent on the rainforest for |

| do about two hours of exercisc = day. usin~
cxercise machines such 43 1 -ad«2ilis and

| ewerything they need, from food and tools to T

medicines and shelter.

exercise bikes. ‘
Choose the correct answer a. b or c:

Asswer the following questions: (15 marks) (12 marks)
L.Why are the rainforests being cut down ? 9. Astronauts use earplugsto ......... :

a- keep listening to each other
b- increase the noise of the machines
c- avoid the noise of the machines

2How does the destruction of trees affect the
lnd of the Amazon rainforest?

1What does the rainforest provide the native 10. Astronauts will normally sleep for less than
popu[ations with? eight hours because they have ......... .
) . _ a- a lot of free time b- a lot of work
Fad words in the text which mean the following: ¢- nothing to do
(15 marks)

Avery destructive Match two of the underlined words from the
text to the definitions/meanings below:

Sagainst the law (12 marks)
11. the force that attracts a body towards the

¢ make bett
et centre of the Earth.

Rewrite these sentences about the text to correct 12. a cloth that covers someone's eyes to prevent

teinformation: (10 marks) them from seeing
L The rainforest of the Amazon region has Complete the following sentences with information
nothing to do with the world's climate. from the text: (12 marks)

L Ulearing the areas wiii be harmiess to Lhe global 3 13. In order not to float out of their sleeping bags

sovironment . during their sleep, astronauts .......... .

14. The bones and muscles of the astronauts would
L | become weak very quickly if they .............c....
Scanned by CamScanner
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I1- Comlete the followiug paragraph by fillin
In hgaps: (20 marks)

13. Syris at ----- forefront of regional recycling

16. coursies. Major recycling plants been built

[7.in thdast few years in arder to dispose safely-----

18. subsmces such as plastics, batteries -----
\astaaterials.

other

VII- Comiplete the following sentences “S'E-E‘\‘

clauses: (14 marks)

32. I'm really tired this morning. so ... ..

33. The fire had started when

IV- FiBa the spaces with words from the list.

Useach word once only: (25 marks)

foa, through, experiments, damp,
they elements

19. Togder they made their -----
20. hougthat was too cold and

in an old wooden

for their health.

VIII- Choosc the correct words in brackets:

(20 marks)
34. We should stop burning coal and oil (so that, iy,
order not to) cause more global warming, -

35. Two (disaster, disastrous) polato crops led to
mass starvation in Ireland.

36. Are you good (at, for) maths ”

37. When my brother (came round, came up) 4ficr

his operation, he feltTine.

21. Thegnew thal some ----- in the world gave off
22. a stge power that could go ----- olher objects.

23. Thg ----- more of this power in some elements
thana others.

V- Camlete the following dialogue by writing

sulble questions or answers. Write at least
the words for each question: (28 marks)

24. R-..‘.:.t.\\.c.vk....\'.s....}'.ahk...s.c..ku.l,...,.. ?
Map: My school is near my house.
25. Ram Mo Many. Stodor’s. 4hg. Thars. -

Map: There are twenty five students in my class.
26. Rl..\-“.).}.‘.SD...AI.’A....X.o.bl’....f)shln.\'\..D.P.('?

Mm: My school opened in 1992.

Raw: What do you like most about your school?

27 ME: s .

IX- Correct the verbs io brackets: 20 niarks)
P dem Shed @

38. Ali (study) law and history for four years.
39.1n 1975 they (lfa\ﬁ) Engl;md on an arrplane.

40. Damascus (be) located in the south-west of
Syria. "%
41. Irish people emigrated because so many

(die) of starvation. '
Bl ~

X- Translation: |
Translate the following sentence into Arabic: '
(8 marks)

42. Caffeine is used as a stimulant of the hear and
nervous system.

Translate the following sentence into Enplish:

(7 marks)
43.

e b)) J:\ ol ey~

.L.‘_l}-t\“) ‘;‘A.Jd'\)’\

VI- Rerite the following sentences as required
inbackets: T 4, it Fepair, (32 marks)

28. ] aldn't repair my computer myself.

(use causative verb)

29. Famers produce many salad crops in the area

XI- Composition: (50 marks)
Write a composition of no less than 80 words on
the foliowing topic:

" A penius you know who deserves a national

ard the city of Al Ain. award. "
(passive voice)
30. Win did you first meet ?
(report using she asked them)
31. Teweather is too hot at the moment.
(Iwish ........ )
END OF EXAM
PAFI NP
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3 — 13- are (loosely) strapped into these bags.
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VIII

XI

.................

RajlSSl RS Jo B 2013 6,95 Ja

1- to make more land
2- it leaves the land dry/ dusty
3. the rainforests provides them with ever thing they need. (tools, food

medicoine..)

4- devastating/ destroying

5- illegal

6- 1mprove

7_ it has some effects on the world's climate.

8- clearing the areas will be harmful to the global environment
9- C. avoid the noise of the machines 10-b. a lot of wo;k

11- gravity 12- blindfolds

14. didn’t exercise ( for about two hours a day)
17- of 18- and/or/ besides/

15- the 16- have/had

21- elements22- through 23- found

19- experiments  20- damp
24- Where is your school (located)?

25- How many students are there in your class?

26- Which year did your school open?

77-1 like the way of teaching that our teachers have.

28- I had it repaired
29- salad crops are produced (by farmers)in the area around the city of Al Ain

30- (she asked them) when they (first) had met.

31- I wish the weather were cooler ( at the moments).

32- .... Present (simple, progressive) tenses + future + correct modals.
33-.... Past (simple,mogressive ) tenses.

34- in order not to 35- disastrous 36- at 37- came around
38- has been studying/ studied/ will study '

39- left

40-1s

41- had died/ were dying/died

42- d_\..an\ )\%J\j_ﬂgﬂw v\—-ﬂl:..“ S J -
43- seople move to the country 10 gsgnpﬂyg’\n crowding and pollution.

g o sl R
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The first paper was made trom cloth nearly
twthousand years ago in China. Although paper
_cabe made from all kinds of materials, such as
caon fibres, grass or sugar cane, these days

Jii Yy o sed ph) & Gy

_ T ——
[-Bead the following text then do the tasks 11- Rezad the following text then do the tasgs -
kelow: below:

\ndlpulp is the material most commonly used 10
make 'new paper' — that is, paper which contains
meld or recycled paper.

The modern world uses so much paper that
emironmentalists have persuaded us that we

smld recycle old paper. There is an increasing
amreness in Syria of the need to recycle both
Wl'_ and other materials. Paper-recycling
amtainers can now be found in some parts of the
amtry and some government agencies have

bun paper recycling programmes. Also, there is
gater education in schools about the need to

ke care of our environment.

Although we use wood pulp from trees to

mke new paper, it is not true that recycling paper
smes trees. Trees are a commercially grown long-
W crop, so that when they are cut down, new
axs are planted. Nearly all new paper is made
i wood grown in sustainable forests.

(15 marks)

S—

“_

Mswer the following questions:

WWhal can paper be made from?

2¥hy have environmentalists persuaded people
gat they should recycle old paper?

IWhen are new trees planted? -

(o g

(UJJY\ Aadal)

Dyead a3, 0 iy

The surgical process is very complex and a |
of care and patience is required before a surpicg)
operation can begin. It is ess;nl'\al that every item
in the operating theatre remain clean and
uncomaminated. Clean, sterile items that are free
of genms are kept separate from contaminated
items at all times. All surgical equipment is sterile
and, if it comes into contact with any unclean
surface, it must be removed or re-sterilised
immediately. Besides the surgeon, the most
important member of the surgical team is the
anaesthetist. It 1s this person’s job to administer
the drugs that allow the patient to undergo
surgery at all. Because SUIgery would be
incredibly painful if a patient could feel what was
happening, anaesthetics are the only way to make
surgery possible.

Local anaesthetics 2re used for smaller
surgeries. They only numb a small area of skin so
the patient doesn't feel the operation as it happens.
General anaesthetics are much more serious. They
paralyse the patient and render them unconscious
so that a surgeon can operate much more easily,
without fear of sudden movements that could
cause an accident or harm the patient.

Choose the correct answer a, b orc:

(12 marks)
9. The surgical process is very ...

a- easy b- complicated ¢- siimple

E&d words in the text which mean the following: ‘

amaterial or fabric used to make clothes

without causing damage (o the environment

ghave or hold within itself

Rwrite these sentences about the text to correct
&information: (10 marks)

1 Grass 1s the most commorn material used to
make new paper

g People in Syria are not aware ol the importance
of recycling materials.

(15 marks)

upractice or product that can be used or re-used | a1t to the definitions/meanings below:

10. An anaesthetist is a person who provides the
patient with drugs 16 ......... him feeling pain
during the surgery

a- allow b- help ¢- 5L0p

\| Match two of the underlined words from the

; (12 marks) ‘i

| 11. experience something unpleasant

|

| 12. to make somebody unable to feel anything i

Completc the following seatences with information |
(12 marks) |

| from the text:

| 13. The patient must remain unconscious during
surgery because sudden movements may -

'14. Anv surgical item o7 equipment {hat is touched

ty surface must .
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- gjﬁﬁ_‘—hﬂo—llowmgparagraph by filling

in thgAPS: (20 marks)
!hﬂ“jﬂst got home ----- a two-day visit
16 o ABRER- was only a short

. gisit=" | will remember it for ever,
1

. AP .
18 Oroms RiVer.

- Mes with words irom the list.
y_s;l_c,h,wlrd once only: (25 marks)
formpowder, storm, different, stomach, later

19. Fewdildren even liked to play with Tom
becae he was SO --—--

ancient sile on the bank of the

20. Onc dernoon he fed some

. [31. who— becamc ill. " I'm sorry", said Tom,

to a friend

(Y 85 L) D) Gans JAG YV 5 G gal) i

VII-

32. I'm really tired because L. Plavecl saatc
33. The fire had started when

VIII- Choose the correct words in brackets:

34. Are you happy with the decision you

Comglete the following sentences using

clauses: (14 marks)
-mar

(20 marks)
(did, made)?

3s. My”sister was never (ability, able) to draw
well.

36. If I want to listen to that side of cassette agam
I have to (over wind, rewind) it.

37. Too much salt is bad for you, but you shouldn't
(do without, do away with) it altogether.

22. “ butlonly wanled to see if it would I

23. enoupgas in his

V- Comgete the following dialogue by writing
suitdle questions or answers. Write at least
thrawords for each guestion: (28 marks)

24, Intemewer: ! v he.ve 8.8 Qo.y... Wl |
Ahmd: I'm working for a large travel agency.

to make him fly".

X- Correct the verbs in brackets: (20 marks)

38. Thunder and rain (be) part of weather.
Qyyiveel
39. When the rescue team (arrive), many areas of

the city had been destroyed completely.

40. The place where an animal (live) is called its
habilat Lives
skudacd

41. Ali (study) law and history this year.

Intamewer: Was it casy (o find work ?

X- Translation:
Translate the following sentence into Arabic:

25. Ahms: NO/J(fva\sd\i(,C al‘i‘.ﬁi ‘d\
26. Intesewer: 4/ )') end- yU..U.....'.S...\‘..mcf..wa.kr?

Ahmad: I start work at seven o ‘clock in the
moming. Your Uilla

(my

c -
Translate the following sentence into English:

(8 marks)

42. The Nobel Prize has been given to several
people from the Arab world.

27. Intesiewer: wh@ﬂsAYbuw 7

Ahmad: 1 left my village to work in the city.

VI- Rewste the following sentences as required
in bckets: (32 marks)

28. Mampeople occupied Damascs before
becwing the Syrian capital.

l
passive voice) !
I 29. Samypeaks really quickly. ‘,
@wish .......)
30. Doym work in a college?
geport with he asked)

31. Sheddn't make the dress herseif.

|
* A

|
{ase causative verb) l

_,PCOE‘Q_CQ_MQ Fck (;s"; Da
X1- Composition:

(7 marks)
43, 53 lad saalid e Bnae 3 O b=

mosSchy Fo Sce Hma

(30 marks)
80 words on

Write a composition of no less than
the following topic:

‘\
\.
\
|

" A magazine article giving ady ice to people ot

. _ - L "
your own age who are about to start a new 100

———

LND OF EXAM

“ 1

- .
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1~ it can be made from cloth, cotton fibers, grass, sugar cane and wood pulp
2- because the modern world uses so much paper.

3- when old trees are cut down.

IT | 4- cloth/ cotton

5- sustainable/ recycling

6- contain/ contains

7- wood p}llp is the most common material used to make new paper.

8- people in Syria are aware of the importance of the recycling materials.

9- (b) / Complicated

10- (C) / Stop

11- undergo 12- numb

13- .... Cause an accident

14-..... be removed
III | 15- from/ after 16- 1t 17- and/but/yet/still 18- an
IV | 19- different 20- powder 21-later  22- from  23- stomach

V| 24- which agency are you working for?

25- yes, 1t was

26- what time do you start work?

27- why did you leave your village for?

V1 | 28- Damascus was occupied (by many peop

le) before becoming the Syrian

| capital.

29- 1 wish he could speak slowly
30- he asked if they worked mn a college.
31- she had it made.
VII | 32-.....present (simple,
33-...... past ( simple, progressive) t

VIII | 34- made  35- able 36- rewind 37- do without
39- arrived 40- lives 41- is studying/ will study/ has

IX | 38-are

studied » '5.
A Al e a2 |
Damascus |

s + simple past

progressive. perfect..) tense
ense

—

o sec the Omayyad Mosque.

N

X |42-&

43- people come to
XI | go=sd

T.me/ 0B AM2020BOT
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